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SECTION ONE
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The acceleration is always constant as the velocity is linear



and the acceleration is the gradient function of the velocity.





The gradient of the 
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 graph is always increasing so the 




acceleration is always positive.
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 there is a turning point in the displacement graph.     (


As the acceleration graph is positive (
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the turning point in the displacement graph is a minimum.    (
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END OF SECTION ONE
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Var(X) = E(X2) – μ2
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The area calculated from below is an underestimate.



The area calculated from above is overestimate.




The average combines both the underestimate and the overestimate 



and should be more accurate.    (





Average is 2.71875
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In 2002 there will be 25 grams of DDT left so it will take 30 years.    (
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You cannot have a fraction of a family, so no, you would never get exactly that 
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END OF SECTION TWO
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